
Calculus II

Asymptotes

find theasymptotes ofthecurve

n +quxy-xy2-2y3 +4y2 +2ny+y-1
=0

y =mx +c
So!Given Cave is

y =M,x +G

n +Euxy-ry2-xy+yy2+y =Man+c

2xy +y - 1 =0Y =M,n +c,



x =1y =m.

I, (m) =1 +2m - md - 2m>

d2(m) =4m2 +2m

d,(m) =y - 1

&, (m) =0

1 +2m -
m2 - 2m =0

2m +m2 - 2m-1 =0



me (2m +1) - 1(2m +1) =0

(md-1) (2m+ 1) =0

(m+1) (m -1) (2m+1) =0

m =1, -1, -42.

=>M1 =1;m2 =
-1:M3=-Yz

c
=(m)= -mataen



-- mstei
C =m -

3m2 +m-1

for m,=1
2 - =1(froma]



61 =1, for m, = 1

y =m,x +4

y =x +1

for Mr =-1

C2 =f

y =M,x + 22
=
- x +1



y+x - 1 =0

for M3=-12

3 = 2(--) +(
-Y -)
-

3( - 1723" +(
-1) - c

=2xyn - Ya
- -

O

3 x 1/n-Yz-1
23 =0



y =Mzx +(s

y
=
- 12x +0

y =-12x.


